FDLE

Alcohol Testing Program

Agency % of -1r—

INSTRUMENT PROCESSING SHEET

S Logie. 2D

S/N 77\:\ B

LOISeI

5667

<
Qualiﬁ'fontrol Review

Date m 2/ /|7 pateout 1[0 [1T_ Bship Qp/u QWD Qomi O
=V
intake Performed/ﬁy \C‘JC) / | Quality Checks Performed By <<%~ Flow Calibration Perfo%si‘ .
O Registration @ LabTemp°c_ 22 G ﬁ Flow Calibration N/A E/l/
.8 Annual M Breath Tube Screen QO Flow Calibration Corpryet S[}
O Return from CMI g Replace External O-Rings Flow Column # 6‘ 0 2
Q  Return from Enforcement & Instrument Set Up Verified a SL/ml,q 17mm S 0//7
Electronics ® R-value | O 15L/min Oéam D(E
O Other ?i Flow Verification (L/s) a 30L/min- 103mﬁ$1‘lr;g p
VISUEI| Inspection: Flow Column # ATP tc’g U R-value 9
J/ Case <\~ Handle 32mm _r (¢ 4 (139-.169) (.139-.169) | 0 Post Calibration Verification (L/s) m
< Dry Gas Holder ?Feet 36mm _ (544 (.156-.190) Flow Column # _
__‘_ Keyboard/Plug = - '--Back/p;ugs 53mm _, A 3¢ (.228 - .278) 32mm (.139 - .169)
)~ Screws tight L Breath Hose 103mm ai (447 - .547) 36mm (.156 - .190)
Barometric Pressure Check 53mm (.228 - .278)
Gither Equipmerit:  GaugelD# ASYA2T] 103mm (.447 - 547)
3 Power cord ﬁ Stability Checks Maintenance Performed By &< [~
QO Pprinter Cable 3 — ‘Simulator | Serial # Lot #/Exp ﬁ— Battery Replacement
-&- Other e 5 .G || 0.05 690—] g 20 103h| O Dry Gas Regulator Replacement
' 2 -5 O Breath Tube Replacement
0.08 . yilg \\ B[ | @ Other
Notes: G’lg &4 1= 1L§ —{§ | | Quality Checks Cont. Performed By~
0.20 . iMoo @ | Simulator Temperatures °C
@il _;92];_}‘??;0 External Digital Therm. ID#: 300 HOH
0.08 DGS N/A AG U 20 lbit # 349C +-.2 Serial#: DDl Z
q9-29-1% §. 349C +-.2 Serial#: SDI 13
34°C +-.2 Serial #: S DD 3‘"
Calibration Adjustment Performed By _ <1~ Department Inspection Performed By L
O, cCalibration Adjustment N/A ' Barometric Pressure (01 Gauge
Calibration Adjustment Complete ) iD# 7)3';1 ] 1O ¢ Instrument
Barometric Pressure Gauge \0 |5 1D # 84 |
Simulator Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # Aol -
0.000 Lo S <0 N/A N/A Acetone Stock Solution Lot # 2011-A
0.040 SDIO 1G] [ 6220 10-2|18 Simulator Serial Numbeg\
0.100 SO0 | 1700 [2-14-17] (22— 2%‘.%&,;\
0.200 SDion 17090 [2-24-9| o0 503902
0.300 DRIATS [ 1910 [i2-=19-15 || 008 SHIoE
0.080 DGS | N/A KA45(508AB  10-5-11]|[0.20 SO3933
Post Calibration Adjustment Stability Checks
Simulator Serial Number | Lot Number | Expiration Attachments
0.05 SDAG, 2 | 2012063D| 2-§-1% W Forma1 & calibration Adjustment
0.08 SO |261LWR[(I-15-18 G Pre-Stability Tests ¥ Post-Stability Tests
0.20 SDPA33 |20 Noar| 2-23-A O  Flow Calibration O Other
0.08DGS | N/A AClo124905] 5-3-1§ |
Notes/Suggested Service: g Instrument Complies with Chapter 11D-8, FAC
QQ\(\JC N WA ol i Instrument Does Not Comply with Chapter 11D-8, FAC
X Return to/Place into Evidentiary Use
O Remain Out of Evidentiary Use
A . B Conduct an Agency Inspection Before Evidentiary Use
7holl7 |l _
Datg' '

Revised May 2017
DI-IPS2017R1
FDLE/ATP -048
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